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0.001 4 #AA 1 54Ut
AR [ | =5.741-0.001 = 5.74

SRR [ | =5.741 4 0.001 = 5.742




5 50] A2 W 7o) 4 9 RS DEAS
0.88 0.35
(1)
0.49 0.67
(2)

@ (1) 0.51 (2) 0.28
® (1) 0.52 (2) 0.28

® (1) 0.53 (2) 0.28

@ (1) 0.52 (2) 0.18
@)(1) 0.53 (2) 018
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SEsE
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A 22 Wit

1) 0.88 - 0.35 = 0.53
2) 0.67 — 0.49 = 0.18




3. 10°]23,1°]11,0.1°]5,0.01 ©] 12 81 5 &2 YJEFHA L.

> E

> ®ehl 241.62
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0.01 ©] 12 - 0.12

wakA] A4 241.62 YUYt
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_-0.14-__ _-0.13-_ _
b ~Sa 7 ~
0 0.1 0.2 0.3
® 0.1+40.12=0.22 @ 0.114+0.12=0.23
® 0.13+0.12=0.25 @ 0.14 +0.12=0.26
3)0.14 4+ 0.13 = 0.27
. -0.14- =013~ _
AN VL A TN YA
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9. A=¥ES st=d A 3 AN 67.24mE AR Y
58.84mE GAFULH F7F drhd o He] dH =R FoHA L.

@%XH, 8.4m @ et 84m ® <A, 86m
@ Y=, 8.6m ® <A, 74m

67.24 - 5884 =84 o]|P2 HA|7} 84m ¢ He| AF ]




ao] GAlS hEA A g n2A,

(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @(1) 5.702 (2) 7.1
® (1) 5.702 (2) 7.01

B

(1) 2.683 + 3.019 = 5.702

2.683
+ 3019
5.702

(2) 4.092 + 3.008 = 7.1

4,092
+ 3008
7.1
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12. o5 FolA Axt 237t M8 2 AL o= AAA] F5HA L,

O 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98
@ 5.61 + 1.907 @6.75 +1.98

B

@ 1.007 + 2.06 = 3.067
@ 0.936 + 2.87 = 3.806
®3.02+098 =4

@ 5.61 4 1.907 = 7.517
® 6.75 + 1.98 = 8.73




13. t 250 WAS vt2A ARt Ae 1AL,

(1) 5.307-3.95  (2) 8.56 — 6.64

@ (1) 1.357 (2) 2.02 @ (1) 1.357 (2) 1.96
@(1) 1.357 (2) 1.92 @ (1) 1.352 (2) 1.96
® (1) 1.352 (2) 1.92

(1) 5.307 - 3.95 = 1.357
(2) 8.56 — 6.64 = 1.92




14. F27F 715 501 9l B #AE Aol 2Y 6.13kgolAsHH.
el £A7F 1.235 kg o)2h F29] £l H kg A FEHA L.

=1 kg

>
> HE . 4895kg

6.13 — 1.235 = 4.895(kg)
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18. o=2( el &9 ERALL.
5196 cm = ( km)

» = km

> el 0.05196 km

lcm = 0.01m, 1cm = 0.00001 km
5196 cm = (5196 x 0.00001) km = 0.05196 km




19. 5 %30 940 Aol 50 542 Sho] ek A4 FolA] 7 2 Aol
7} A2 o] Spe] G oA 2.

392} 40 Ate] & 50 5E5H =
22 44k 39.02012 7 &

w2hA] 39.98 9] Aol §2 3+ 9
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20. 6, © 2 %59 B0l A&UTh & 3 et © 4 A9 BAlL] T
26.2kg ©11, @ 1 A% © 1 9] BA9] &L 7.8kg AUTE. @ 1
Mol FAL B kg 97| T84l .

» = kg

(@ 1 709 #A)+ (© 1 7He] A= 7.8kg)

- (@ 3 78] FA)+ (© 3 72l FA)

=78+ 7.8+78=234kg

(@ 3 7He] FAN+ (© 4 7He] )= 26.2kg

- (@ 3 4] FA)+ (© 3 742 FA)

+ (© 1 749 FA)=234 +(© 1 7§12 FA))= 26.2kg
- (O 1 2 FA)=26.2 -23.4 = 2.8kg

(@1 2] #A)=78-2.8=5kg




